Z\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - ID XXXX - 6'8 OP GLZ FG Imp Molded Open (TX 5209-5213)\C - Drawings\TX-5212-5213.dwg

THERMARTRU

DOORS
Fiber-Classic. & Smooth-Star.

OPAQUE FBERGLASS DOUBLE DOOR
w/ MOLDED OPEN SIDELITE(S)

INSWING /OUTSWING
"IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Fiberglass Door system described herein complies with the 2018 International
Residential Code (IRC), Sections R301 & Ré0% and the 2018 International Building Code
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following conditions:

1.

2.

SN

Anchors shall be as listed and spaced as shown in the details. Anchor embedment
to base material shall be beyond wall dressing or stucco.

This system has been tested and evaluated as a large missile impact protective
system for installation in areas that require wind bome debiris protection. This
product meets missile level "D" as defined in ASTM E 1996.

Allowable design pressure requirements must be equal fo or less than the design
pressure rating shown in the design pressure chart, sheet 1 of this drawing.
Conditions not covered by this drawing are subject to further engineering analysis.
Fiber-Classic and Smooth-Star Door & Sidelite panels require the use of "J" part
numbers. These door panels must be stained or painted within six months of
installation. :

TABLE OF CONITENTS

SHEET # | DESCRIPTION

Typical Elevations, Design Pressures & General Notes
Door Panel Details

Sidelite Panel Details

Elevations

Horizontal & Vertical Cross Sections {2X Buck]
Vertical Cross Sections {Thresholds)

Frame Anchoring

Hardware Details

Lite Frame & Glazing Details

Bill of Materials & Componenis

Sie|mN|oanajwiro|—

149.5" MAX O.A. FRAME WIDTH

R o

tyndon F. Schmidt, P.E
TEXAS P.E. #104123

813.659.9197

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595

Documents Prepared By
WPhone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

THERMA-TRU
FIBERGLASS DOOR
PART OR ASSEMBLY:

PRODUCT:

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

BY

NOJ DATE

REVISIONS

oATE: 5/27/21

SCALE:  N,T.S.

DWG. BY: RW

37.5" MAX. ,
AV 74.5" MAX. FRAME WIDTH ——o—l
1Moolool—

g 9
e
<€
S2 ok
$E %S

_§ % =% O Bl e | @)

Sw S8 X © X
2 oo
¥ 2
&
J J
| e |
DESIGN PRESSURE (PSF) DESIGN PRESSURE (PSF)
CONFIGURATION LOCK TYPE INSWING OUTSWING
POSITIVE NEGATIVE POSITIVE NEGATIVE
LATCH & DEADBOLT +550 -65.0 +60.0 -60.0
OXXO
MULTIPOINT LOCK +60.0 -65.0 +60.0 -60.0

CHK. BY: LFS

DRAWING NO.:
TX-5213

sHeer _1 ofF 10

© 20271 R.W. BUILDING BONSULTANTS INC.



Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TD! - ID XXXX - 6'8 OP GLZ FG Imp Molded Open (TX 5209-5213)\C - Drawings\TX-5212-5213.dwg

2.38"

l—t].Q"* i

/2
7
/i
[

-‘————-].7"-——-.—

—--1.2" *}

HINGE STILE LOCK BLOCK LATCH STILE
(ENGINEERED WOOD) m HORIZONTAL CROSS SECTION  12.5"LONG (WOOD}  (ENG. WOOD)
\2_/ WOOD EDGE DOOR PANEL
0.4" — et — ) 1.88" AR
—1.2'—| — t«-— 0.4"
N S8
/ < COMPOSITE
CAP
COMPOSITE HINGE STILE LOCK BLOCK LATCH STILE

CAP (ENG. WOOD)

(2" HORIZONTAL CROSS SECTION
\2_/ COMPOSITE EDGE DOOR PANEL

35.81" MAX. DOOR
PANEL WIDTH

36" MAX. DOOR
PANEL WIDTH

12.5' LONG (WOOD)

(ENG. WOOD)

35.81" MAX. DOOR
PANEL WIDTH

a|=

(2
\2/| L

I*- 5.5

—]

79.25" MAX. DOOR PANEL HEIGHT
79.25" MAX. DOOR PANEL HEIGHT

l l

40 FIBERGLASS DOOR PANEL 41 FIBERGLASS DOOR PANEL
BOOK DOOR HYBRID DOOR

FIBERGLASS SKIN: 0.073" MIN. THK.
FOAM CORE: POLYURETHANE -1.9 PCF MIN.

N

‘*—— 5.5

i

(2
\2/

79.06" MAX. DOOR PANEL HEIGHT

q

42 FIBERGLASS DOOR PANEL

U1 DOOR

] |ss

NOTE: BOOK, HYBRID & U1 DOORS
MAY EACH BE FABRICATED AS WOOD

Lo Vo B XY
L3 =,

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

OR COMPOSITE EDGE DOORS.
TOP RAIL TOP RAIL
(COMPOSITE) (COMP./ENG. WOOD)

in
<
FOAMCORE ||+l ©
~
FIBERGLASS SKIN
(]
BOTIOM RAIL—" [ ‘
(COMP))
-~ 17—

7“3\ VERTICAL CROSS SECTION

FOAMCORE |~ =
FIBERGLASS SKIN
o
BOTTOM RAIL—"|[
(COMP.) -
|t ] 7" ——

/~ 4\ VERTICAL CROSS SECTION

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FlL. 33595

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

THERMA-TRU

FIBERGLASS DOOR
DOOR PANEL DETAILS

PART OR ASSEMBLY:

PRODUCT:

BY

REVISIONS

NOJ DATE

DATE: 5/27/21

scale:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

\2_/ WOOD EDGE DOOR PANEL

\2_/ COMPOSITE EDGE DOOR PANEL

DRAWING NO.:
X-5213

SHEET _2 ofF 10

© 2021 R.W, BUILD!NG CONSULTANTS INC.



[~ 1.2" ] " , b,
EXTERIOR 238 - 12 e
53 2 o
’ —— - 3 / ‘E - g ui 0
N : A .’:’ ) ,11\‘ ; ,.’ ‘5 k] ) g _l_‘Z_J 9
i e 4 8 N e e o
~ S # . pNEL 2 4 - ;5 Zi 2;8 &
U Yl = 20 |8t g
| w INTERIOR ‘ 57 538 gk
ENERWR PR >
HII\II GE STILE S LOCK BLOCK LATCH STILE TOP RAIL TOP RAIL i oS - % g gg
(ENGINEERED WOOD) m HORIZONTAL CROSS SECTION 12.5" LONG (WOOD) (ENG. WOOD) {COMPOSITE) (COMP./ENG. WOOD) e & 3 o s of
\_3_/ WOOD EDGE SIDELITE PANEL \ B OZ8% by
2456 0
04— | 188" = 12" — Posdd &%
- "] ’ ’ " 0 @
- 1.2 EXTERIOR DE::]D ‘.j l<~‘ 0.4 g § ”’%
_ - ped :"8 g =
N = = : SN R S : ]
~ ) D FOAM CORE 1} FOAMCORE || °
} , COMPOSITE s ™~
0 IQOSlTE \ <= INTERIOR D 1 / \ g
CoM HINGE STILE EERER LOCK BLOCK LATCH STILE o | E
CAP (ENG. WOOD) /" 2"\ HORIZONTAL CROSS SECTION 12.5'LONG (WOOD)  (ENG. WOOD) 23 a
\_3_/ COMPOSITE EDGE SIDELITE PANEL Ii o4 3
=0 1578 <
36" MAX. 14" MAX. Al
PANEL WIDTH PANEL WIDTH e e (0,66 EXTERIOR S TR E% 2 g
)
3 N3/ =
~ = = & x
@ y - VY I INTERIOR EXTERIOR INTERIOR EXTERIOR o
) // m sTiL w/" INTERIOR
/ VARl (WOOD) /5 HORIZONTAL CROSS SECTION
l_- "
= 5 \3_/ 14'SIDELITE
: : :
T = 17— 5
1] zZ %]
> Z ﬁ =
< o i
. O % O TOP RALL /F\ =
% < (WOOD) e
= = iy FIBERGLASS SKIN FIBERGLASS SKIN
' N L
2 R S
/ INTERIOR A\ EXTERIOR _ -
4 5 <
/ 1// o
/ : 3
z
sorcrgxPRAtL/ BOTg(O)mPRAIL/ o 5,/27,/21
. ( J ( y ScAE:  N.T.S.
e 1.7" —>| - 1.7" —| DWG. BY: RW
50\ FIBERGLASS SIDELITE PANEL . SIDELITE PANEL ok o LFS
MOLDED Grm - OF COMPOSITE EDGH T oEN (6 "\ VERTICAL CROSS SECTION / 3"\ VERTICAL CROSS SECTION /4 "\ VERTICAL CROSS SECTION DRAWIG.0:
FIBERGLASS SKIN: 0.073" MIN. THK. \3 /4 S‘DE”T'; WN (BOTTOM RALL SMILAR \_3_/ WOOD EDGESIDELITEPANEL  \_3_/ COMPOSITE EDGE SIDELITE PANEL TX—5213
FOAM CORE: POLYURETHANE -1.9 PCF MIN. TOP RAIL SHOWN (BO ) sweer 3 or 10,

Z\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - ID XXXX - 6'8 OP GLZ FG Imp Molded Open (TX 5209-5213)\C - Drawings\TX-5212-5213.dwg

© 2021 R.W. BUiLDING CONSULTANTS ING.



ZA\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - ID XXXX - 6'8 OP GLZ FG Imp Molded Open (TX 5209-5213\C - Drawings\TX-5212-5213.dwg

/ || ||

()
N
q
>
@40
{
<

4 \

LY
X

/
VA
/

/
Y

q

P d
OED )

SEE HARDWARE
CHART

)

Q

Fiber-Classic/Smooth-Star Door Panel Options

Products approved include all embossed and recessed panel doors.
Similar opaque panel configurations are allowed.
Panels shown are for illustration and are representative only.

b

AN
S }ﬁhi
Serinidi
Fom3h T
FAVEER -SRI N )
pat *.‘ LS T R 7
o s 12N WA e
g Mt g
AT Eyee 1o A -
g4 iZie NP &
& 88 [ C e
3(} i, 181 SRS
4, LG YR
Uy Fxilsl oF
Wiy iane®S

6 8.2/

Lyndon F. Schmidt, P.E.

TEXAS P.E. #104123

813.659.9197

MANUFACTURER

SCHLAGE

KNOB:
DEADBOLI:

F51
B40

P.0. Box 230 Valirico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

THERMA—TRU
FIBERGLASS DOOR
ELEVATIONS

PART OR ASSEMBLY:

PRODUCT:

BY

NOJ DATE

REVISIONS

oaTE: 5/27/21

KWIKSET

KNOB:
DEADBOLT:

SIGNATURE SERIES
SIGNATURE SERIES (980)

HOPPE
(THERMA-TRU)

MULTIPOINT :

MPDGSB
(3 pt. Manual Shootbolf)

scale:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
TX—-5213

SHEET 4 oF 10

© 2021 R.W. BUILDING CONSULTANTS INC.



TON] SLNVYLTNSNOD 9NiaTnNg "M'd Lg02 @

ZS8LL—4 # NOUVMISIOZN 40 ILVOIHILNID SNOISIAZY

SUIAINIONT WNOISSIH0dd 40 om<o%_w._.mxmh, «xw@oﬁ g.wmw, ch_ﬂso%%NWmoﬂmo A8 31vd [ON

CEoEE ot ot o \S.vg. KIGNISeY U0 19vd
*ONI ‘SINVLINSNOD ONIGINg ———

CZLPOL# "3'd SYXIL NAL—VYNHIHL
T'd IPILYDS 4 UOPUAT] kg pedodeld sjuswnoog H1onQoMd

9
o

|

RW
LFS

OF

5

TX—5213

oATE: 5/27/21
scalE: N.T.S.

DWG. BY:
CHK. BY:
DRAWING NO.:
SHEET

g2

o asnasy o .NWN
P S G\vczwo SN b,
& %%
i 5, O
F05 envor 5 %
whansae :i-:a.:o:..::evonw::z wue
TAINHOS = NOGNAT &

sranRSEY
e saaAIDERDENYELENLAIREIIIY ot /

)
3
sanees $a e
W-W ﬂ- % 4 %s Mw..ﬂ“
n%& # «Wo‘. . '.....ﬂnv xnm.. /
(7, e, .
»wmm»s .o, «.'.-&J\?‘U& :

DRYWALL

®

{

INTERIOR

A\

m VERTICAL CROSS SECTION

‘\y Outswing shown {Inswing similar)

™~ [a%4
& = o]
0000000080 . —_ 7
005065665000 oL £ fav
0000000000600 O m [y O
G0C0000000000 [XN]
90060006000 -, i <C -z h
24 LLi >
Ge000000 jan] T L i
0800000000 oo L
©00a00006000! o)
900000006000 zZ (%]
0OBAGATOCO00 fonnd

23
23
o
43
!
&
00!
08

o,
o
o
o
o
o
o

A
s&%&%&n@\‘
(a0)41)42)
EXTERIOR
/ 2"\ VERTICAL CROSS SECTION
w Outswing shown {Inswing similar)
N i
2

/"5 "\ HORIZONTAL CROSS SECTION
\y Outswing shown {Inswing similar)

4111, @)
¢ =
£ M
’ =
L
£l
# ‘/._ W
L4RNT [Ze]
P
# [
/

DRYWALL

abo, Bogo0aa
oa350000008030004 1
220208050 5030500d b
809652503030303%
690953080305620
0808080805030 F B
0802030803030 3 B

INTERIOR
EXTERIOR

fro

HORIZONTAL CROSS SECTION

SEE NOTE
(TYP.)

SEENOTE 1

A\

W Outswing shown {Inswing similar)

AR

EXTERIOR x
(50

INTERIOR

09080808
6202000
0823030,

09a8od0
dggladofelasa
505 aoMepooseieto
A 02050500 0.02050°

o
22
N

s

b

2

0,

3

850,00 0 000

3030300a50088052

ap8ansegesagssas

950a22082893a0
238

m HORIZONTAL CROSS SECTION
w Outswing shown {Inswing similar)

equally spaced between (7 screws total per side jamb).

2. Sidelite assembly screws located 3" from each end and @
centerline {3 screws along head jamb).

3. PVC/Wood Moulding secured w/ 16 GA. X 1" brad nails located 1

1. Sidelite assembly screws located 6" from each end and 5 more screws
ends & 10" o.c. mox.

Notes:
SEE NOTE 1

BMpP'E125-2125-X L\sBumeiq - D\(€L25-6025 X1) uado papjow dwi 94 719 dO 8.9 - XXXX QI - IGL\su] 40 1daq sexaL - e\LNINVNYId NiL BULBYL\SIUBID\Z



Noftes: ST i
1. Sill ltem #32 is attached to jambs w/ (3) #8 X 2-1/2" pfh screws at each end. Srind & o
Sill ltem #33 is aftached 1o jambs w/ (2) #8 X 2-1/2" pth screws at each end. ,5"“ @. B § o gg
Sill ltem #34 is attached to jambs utilizing (2) #10 X 2" pph SMS at each end. g :f int %* . § e
W 2. Sidelite assembly screws located 3" from each end and @ centerline P Wt wu  Gw 87
INTERIOR EXTERIOR (3 screws alongsill). INTERIOR N EXTERIOR ?»‘25 AN W g i 45 i‘;
S : 5 o 32
SEENOTE 2 e i 38 Z38s 33
NG H > Do BE
R e -
@@@ g, x B2 Eé
o @ Dt 5 gr® 09
- ) O« 3 o
° 252 uw
& ~ £ 5% 95
' c 32 \J 32 $ 502 Bu
SEENOTE 1 P 2 ke
: 2k
£ & B
8
w
% -
5| g
ER | &8
K ) wooD W\ K ) woob Loy |39
EXTERIOR INTERIOR =2 |g &5
D ) CONCRETE D ) CONCRETE LD é EQ
= WS
/ 1\ VERTICAL CROSS SECTION (40)(a1)(42) /"3 \ VERTICAL CROSS SECTION LB [
W Inswing Sill w Inswing Sill Q g
S e
& &
SEE NOTE 1 &
A\ Y A\
EXTERIOR INTERIOR EXTERIOR INTERIOR ”
(D @ /Y -
SEE NOTE 2 ®\ A %
()are2) & 4
CONCRETE z o
i, (5 VERTICAL CROSS SECTION
7:2 NN\ NN\ &/ Outswing Sil ’ §IIENNN NN
SEENOTE 1 “ ,___._:} I\\\ &/ %’.""_’. I\\\
2001, D
p /\/ /4 7 / i;é/ /4 L
. DATE: 5/27/21
WOOD WOOD SCALE:  N.T.S.
G , ° DWG. B:  RW
N 0 CONCRETE Q CONCRETE o o LFS
2 \ VERTICAL CROSS SECTION DRAWING NO.:
(s Jouswngsi (4 \ VERTICAL CROSS SECTION TX—5213
w Outswing Sil
SHEET _6 oF 10

Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TD! - ID XXXX - 6'8 OP GLZ FG Imp Molded Open (TX 5209-5213)\C - Drawings\TX-5212-5213.dwg

@ 20271 R.W. BUILDING CONSULTANTS INC.




Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - ID XXXX - 6'8 OP GLZ FG Imp Molded Open (TX 5209-5213)\C - Drawings\TX-5212-5213.dwg

(3) #8x 2-1/2"
PFH WS

JAMB TO HEAD DETAIL
[TYP)

14" MAX
O.C. (TYP)

G JAMBS
ASTRAGAL i
3" (TYP.) —= 3 (TP} = =
£ (TYP) —m— 4" TYP.) —— — 3" (TYP) ——| |=—
‘ | 4 (1YP) —] ’ }
| | \ I NI /) Pt I
| — — —T
% *
: SEE DETAIL 1 o
Il (sHEET§) S
- | - =l
HEAD & JAMBS A
(TYP.) H
/1
|
- i - | D
[
|
_ :1 (vP) _
0 WOOD | SEEDETAL2
(SHEET 8)

14" SIDELITE NOTES:
%
ANCHOR NOT REQUIRED FOR DOORS WITH 14" SIDELITES

OXXO

FRAME ANCHORING

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

813.659.9197

BUILDING CONSULTANTS, INC,
P.O. Box 230 Valrico FL. 33595

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

)
S| 2
| S
Loy 5
=0 [ €
=< |F| =
Y m
LiQ® 2|
T Wl =
H% 2] =

L& |9E

5 14

2 o

’_..
el |&
n. [+ R
>—
)
%)
v
o
wn
I
L
S
o
Zz

oATE: 5/27/21

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
TX—5213

SHEET _/ ofF 10

© 2021 R.W. BUILDING CONSULTANTS INC.




Z:A\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TD{ - ID XXXX - 6'8 OP GLZ FG Imp Molded Open (TX 5209-5213)\C - Drawings\TX-5212-5213.dwg

e

LATCH & DEADBOLT DETAIL
Schlage / Kwikset

5.5" —= E:
440" (1.5

SEE LATCH "\
& DEADBOLT
DETAIL
o CONCRETE
o WOOD
\I ]/ |
- &.
= ASTRAGAL
Latch and Deadbolt
DETAIL ]
Coastal Astragal Strike Plate @ Head
1/2" HOLE

el
\\

S =

x =
AN
DETAIL 2 G WOOD DETAIL 2
Inswing Outswing .
Cooastal Astragal CONCRETE Astragal Bolt Hole @ Silt
Strike Plate @ Silt

LATCH & DEADBOLT STRIKE DETAILS

SEE HINGE DETAIL
(TYP.)

A\

11.25" FROM TOP
OF JAMB

T1.125"FROMTOP .
OF JAMB

29.25" (TYP.)

BOOK DOOR

R

HINGE JAMB

d°%°

O
® @

h\
W

HINGE DETAIL

inswing

29.75" (TYP.)
1/HYBRID DOOR

=
3

@)

SEE LATCH
& DEADBOLY
DETAIL

[Fe=o- =)

ASTRAGAL
Multipoint Lock

@
]

lé

s O
:,,4&@

HINGE DETAIL
Outswing

44375 (£1.5Y)

LATCH & DEADBOLT DETAIL

Mulfipoint Lock

b oo

/,
1
/
1/

DETAIL 1
Mulfipoint Lock Strike Plote @ Head

doollooe)

DETAIL 2 \\‘i’

CONCRETE 0 inswing
Muttipoint Lock Strike Plate @ Sill

A\

= OIS0}

DETAIL 2

WOOD Oufswing

Multipoint Lock Strike Plate @ Sill
CONCRETE °

MULTIPOINT LOCK STRIKE DETAILS

it}
an
b 0

End

To 4

Eg a o

A -

N Owm [

b e ¥

c o

6 0% 3

° oo 7

g fxao 2

3 Fso 0
2>m
Zom

s 8”@

@ oN oy
0 xZ

o o L
z

o £mg O

2 256 0

2 50¢ 4

& o g

o ;g o

»

j =4

Qo e:

E g

3

O

o

o

CERTIFICATE OF REGISTRATION # F-—11852

THERMA-TRU
FIBERGLASS DOOR
HARDWARE DETAILS

PART OR ASSEMBLY:

PRODUCT:

BY

REVISIONS

NOJ DATE

oatE: 5/27/21

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
TX-5213

SHEET _8 oF 10

O 2021 R.W. BUILDING CONSULTANTS ING,




ZA\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TD! - ID XXXX - 6'8 OP GLZ FG Imp Molded Open (TX 5209-5213\C - Drawings\TX-5212-5213.dwg

]
3 L)
1.53" g3 2 o
1.53" 123 ESX 5 u8
[~ 153"~ tTd s 8 22
13 Ay g8 o
— ; 124 vt =y @
— Iy s y b - b
? —T EXTERIOR T‘E 1 9 5% g2 3:
. ) i - 3 5F BE8 aE
- —- N S ... : - 234 8%
J_ GLAZING TAPE / g Ei D e 5 88% % %
——— 1" THK. GLASS ! [ e o ©xf %
® £d, Of
/ 1/8" TEMPERED GLASS g 25 § 3;
L mox <&
1/2" AR SPACE & g0
(B A o oo ! 4R ALUMINUM FRAME e §
-~ 2" ANNEALED GLA! Aluminum Impact Lite Frame o &
RPN : 0
DOW 995 ———""T|E N 0.090" SAFLEX PVB INTERLAYER °
20.88" D.L.O. 20.88" D.L.O. :ﬁ E
WIDTH 1/8" ANNEALED GLASS WIDTH = "
#10X 1-1/2' PPH SMS (5A) ! _E §
- - - Led
NTERIOR SWIGGLE GLAZING SPACER PE'B §°
. . 1| E— <0 |3 Eo
( > GLAZING DETAIL ! =2 |38 .2
Aluminum Impact Lite Frame ¥o b 55
=13 o) (G
L, @<
I I
8] 8 o
L . ; (=] [
o _. 2 %
X #10 X 2' PPH SMS o o
== (TYP) .
- o DOW 995 GLAIING . /
5| R compoUND ] [ 1/2" GLASS BITE . L
iu) o .
= NORSEAL CLOSED Y J_
O X O
3 CELL PVC FOAM 5 o8
o 3 SE i
i EXTERIOR ——— 1-1/4" THK. GLASS a 2
g ) U o 3 ”"‘T &
] 1/8" ANNEALED GLASS >
— 0.090" SAFLEX PVB INTERLAYER o
#10X 1-1/2" PPH SMS Z = 178" ANNEALED GLASS
) ! (TYP.) - :ssmo INSERT
D T ‘\ AR SPACE
] 1/8" TEMPERED GLASS L
INTERIOR
_i (A FOAM SPACER w/ ALUM INSERT S
» L 1 I g DAE 5/27/21
i _..! —.~ GLAZING DETAIL —— () o e
5, & 1-1/4" Insulated Laminated Glass ke
= w/ Intemal Blinds Dwe. B:  RW
* %%k CHK. B:  LFS
3A)ALUMINUM LITE FRAME 14" SIDELITE NOTES: 4 A ALUMIRUMLITE FRAME DRAWING MO
14" SIDELITE HAS ONLY 2 END SCREWS @ TOP & BOTIOM TX—5213
*% ) 4" SIDELITE HAS ONLY 1 SCREW @ CL @ TOP & BOTIOM s 9 o 10

© zp021 rR.W. BuiLbing ConsuLTanTs INnc.




ZA\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - ID XXXX - 6'8 OP GLZ FG Imp Molded Open (TX 5209-5213)\C - Drawings\TX-5212-5213.dwg

BILL OF MATERIALS

TEM # | DESCRIPTION MATERIAL
A 2X FRAMING (SG >=0.42) WOOD
C 1/4" MAX. SHIM SPACE -

D 1/4" PFH DeWALT OR ITW CONCRETE SCREW {1-3/4" MIN. EMBEDMENT) STEEL
F #10 X 2" PFH WOOD SCREW STEEL
K #10 PFH WOOD SCREW (1-3/4" MIN. EMBEDMENT) STEEL
L #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMBEDMENT) STEEL
P 3/16" PFH ITW CONCRETE SCREW (1-3/4" MIN. EMBEDMENT) STEEL
1 COMPOSITE JAMB COMP
2 WOOD JAMB {FINGER JOINT PINE ) WOOD
7 WEATHERSTRIP FOAM
8 DOOR SWEEP VINYL
9 SWEEP (USE w/ PUBLIC ACCESS THRESHOLD) VINYL
10 #10 X 1-1/2" PPH SMS STEEL
20 #8 X 2-1/2" PFH WOOD SCREW STEEL
21 #12 X 1-1/2" PFH WOOD SCREW STEEL
22 #8 X 3/4" PFH WOOD SCREW STEEL
23 #9 X 3/4" PFH WOOD SCREW STEEL
24 #9 X 1" PFH WOOD SCREW STEEL
25 #9 X 2-1/2" PFH WOOD SCREW STEEL
26 #8 X 5/8" PFH WOOD SCREW STEEL
27 LATCH STRIKE PLATE STEEL
28 DEADBOLT STRIKE PLATE STEEL
28A | DEADBOLT SUB-STRIKE PLATE STEEL
29 4" X 4" HINGE STEEL
30 LATCH & DEADBOLT STRIKE PLATE STEEL
32 INSWING THRESHOLD ALUM/COMP
33 OUTSWING THRESHOLD ALUM/COMP
34 PUBLIC ACCESS THRESHOLD ALUM
35 SIDELITE SPACER (INSWING) VINYL
36 SIDELITE SPACER (OUTSWING) VINYL
40 DOOR PANEL {BOOK) -
4] DOOR PANEL (HYBRID) -
42 DOOR PANEL (U1) -
44 COASTAL ASTRAGAL {THERMA-TRU) ALUM
50 SIDELITE PANEL -
78 MULTIPOINT LOCK STRIKE PLATE @ HEAD STEEL
79 MULTIPOINT LOCK STRIKE PLATE @ SILL STEEL
80 COASTAL ASTRAGAL STRIKE PLATE STEEL

1.25°

S 456" L e
456" S ~ S | ¥
l ! ,ﬁ: CQ ’:_q" ';
— \J \/\____/\J J ;;, }3,::
Ly
e — i~
/-————ﬁ‘\‘] 1.t
OROL00 ‘ e%o"-‘
s kb
217 —~ 236 — Qs
@ COMPOSITE JAMB CD WOOD JAMB
4. 5 6" i | 4.56“

T‘—— 1.5" R o |

32 INSWING THRESHOLD

Adjustable Composite Sill

| 6"

:
AT TS

@ PUBLIC ACCESS THRESHOLD

TN

bl 1700 —»l

T

—— 2.06" —|

in
S e SWEEP @MK
i
-—191" »—, 2
U 3
5 — == 0.06"
o~
‘ O
| [~—0.13"
@ COASTAL ASTRAGAL

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

33 OUTSWING THRESHOLD

Composite Sill

‘ 213 |

—— 0.5"

0.08"

L 4

]

ln@

SIDELITE SPACER
Outswing

1

<: :> SIDELITE SPACER
Inswing

0.68"

CONCRETE ANCHOR NOTES:

. Concrete anchor locations at the comers may be adjusted to maintain the min.

—

. Concrete anchor table:

edge distance to mortar joints.

Concrele anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

" 1-1/4" 2 Py

1apcon®| W4
DeWALT - - - -
ULTRACONS|  1/4 1-1/4 1 4
W y — v —
tapcon® | 314 1-1/4 AS SHOWN 1-1/2

WOOD SCREW INSTALLATION NOTES:

. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of

wood screws to prevent the splitting of wood.

P.0. Box 230 Valrico FlL. 33595

BUILDING CONSULTANTS, INC.
Phone No.: 813.659.9197

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

THERMA-TRU
FIBERGLASS DOOR
PART OR_ASSEMBLY:

PRODUCT:

BILL OF MATERIALS
& COMPONENTS

BY

NOJ DATE

REVISIONS

DATE: 5/27/21

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
TX—5213

sHeer 10 oF 10

© 2021 R.W. BUILDING CONSULTANTS INC.



